Division Riddle

2r3=n
17=Db
23 r3=e
13=0

3=i
9=r
71r10=y
31=f

25r1=-
11 r9=m
2r41=u

What does Spooky like to have for breakfast?
A cup of coffee and a

Solve the division problems and then use the code to solve the riddle.
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17 13 13 25 17 23 9 9 7
53[901 | 68[884 | 27[351 | 18[451 | 41[697 | 31[716 | 72[648 | 23[207 | 19[143
53 68 27 36 41 62 648 207 133
371 204 81 91 287 9% 0 0 10
371 204 81 90 287 93
0 0 0 1 0 3
blo|o]| -| ble]|]r|r|y
11 2 31 31 3 2
36[405 | 63[167 | 25[775 | 161496 | 98[294 | 57[117
36 126 75 48 294 114
45 41 25 6 0 3
36 25 16
9 0 0
m | U | | N
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